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SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.

What are the difference between the -contract costing and job
costing? Wy

PUUBS SiL&s® 1PMDESGLD Log')@jtb Liawf SILsselemauduc
PODEGLD 2 aTer CoumumB&6T wraneu?

From the following details, prepare a contract Account.

. Rs.
Materials purchased 10,000
‘Materials at the end 1,250
Direct wages 15,000

Plant issued 5,000
Direct Expenses 8,000 .

The contract price was Rs.1,50,000. Contract was completed on
30% September 2016. Charge indirect expenses at 15%. On
wages and provide Rs.1,000 for depreciation on plant.

Spaumid efluipisailelpbs RUUGS asmr'é;ma; Wt Qewis.

| -
a&smU QummeT Qs TeTp S 10,000
Buid ssei QumweT @ HLiL -~ 1,250
Gy gl “hs 15,000
Gumdl wafliy | 5,000
Gy Qsamaysar 8,000-

@uubs aflee e.1,50,000, 30 Qe bl 2016 weny @UiLkSD
(pyaialhes). wopips Corgs Qeeaser 15%. Coras &meifen
semrGALLILLLg). 51,000 Quimdlisen B Geiiomend iefdasiiuiiL g

In Process ‘B’ 75 units are transferred from ‘A’ at a cost of
R&.1,310. The additional expenses incurred were Rs.190, 20%
the units entered are normally cost lost and sold @ Rs.4 per unit.
The output of the process was 60 units. Prepare Process ‘B’
Account,

uigBlane  ‘B'-&@ 75 SoGsar m.1,310 oL sssdhe UgHaw
A-l@pgl wrppb eluiiucLg. Qsy Qeoesar @190, stsryemr
BULD GuptulL. se@seida 20% . b <0G @am @.4 e
dlpsincg, B ugflaauia 60 wiw@se e puss Qe g,
Uiy fleney B-semrédlener swimflés.
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Slemaupd g safled mbe) Q&umum.@ SiLsselma <flémaamu
urrrramuuﬁ]eo 2. Wlesre iy 2-Huidd SIL65 eflenavaniLi swirfléseLb.

. Qwrgs a«m@a;m 2_MLisd) £10,00,000 &Gavir curt_aiv
| QewpLm’ @ gnedlsar ¢5.50,000 ’
urmofluy Geeey E &5.50,000 '
B HDID & Shae  5.40,000
Qurflser Copunianey ' 5-30,000
Bireursid GuopAewa, : .20,000

GBS 26007 (H) grrgu@urr@l_aam g_m)rr é;]Ga)rr Gurn_m)g)@ 25 és]@cowmes@
5.0.02 gaor HGarr. : :

pager idseilana ¢.2,00,000-&8en 10% Caiorand Gy &5

-Margin of safety is 20%.
. P.V. Ratio is 60%
Fixed cost = Rs.30,000

Find out

(a)  BEP Sales \
'(b) Actual aales for the year’

(© wvariable cost for thel year

(d) Profit for the year

ungsmiL erevanad 20% 2 eTengy

ey eflhuienen aﬁlé,]gsm 60% <5 p_mmgj

- Bevas Qsaeysar m.30,000

(<) o prLBdar HaeiiLdmef a‘:’;l,r_i)umm;

() e e aview eflpLienar

@) w0 ol Qsavay

(") @G @orub

Describe the objectives and advantages of standard costing.

Bl 2iL_sseilame sarad i én Gpna;esrma;crr LHMID pestanoger efeu,
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16.

17.

18.

From the following information’ calculate total Kllometers and
total passenger Kilometers,

N umber of buses: 10
‘Days operated in the months: 30 days

Trips made by each bus: 6

Distance of poute: 30 Kme (one side)

.Capacity. of bus: 50 passengers

Normal ‘paSSenger traVelling 7 5% of capacity.

Qer@dsringL aﬁ]mrfrma;aﬂaﬂ@‘r_r@ errg,g, a‘,]LB Log)QJLD LIU_IGO'Gﬂ &.18

i GEHGW!'BE

G"u@gbgua;erﬂein erewramil&ens : 10

:l'@u_lésesl;ium_ ;_r,rrLé;dr (Lbrrgggﬂ,rb@) : 30 pinc_gar

pa1@eu® CuGHEID G praerss b e Qe @me
aifls@srames, : 30 &, 8 ( @@ aif)

@m@mrr@ Gu@pgm SO @@a;ma;.a;m G]a;rrmn_g,j

wanflsar g],r_r)euﬂ@n 75% LDI.@GLD uu.nmu@g,guuu_gj

From the followmg information ﬁnd

(@) BEP in rupees and « - o ol
(b)  Number of umts to be sold to earn and net mcome at 10%
- of sales
' Selling. price Rs. 20 per unit

Variable cost _ Rs.12 per un1t

Fixed cost ' ' Rs.2,40,000
&G QamR&sLILL-[Herar aﬂml}réjas‘erﬂm <l l1Lentufé
(<9|) &flaw ;ﬁlmm @urru_(ﬂa)) DO DID

(<=3) Gﬁlp)ucmﬂuﬁla) 10% flar @LILD ITL,_!_ (‘Sg,mmu_lrrsm aﬂmumm

Sienanauw|Lh Seirs,

ApLienan eflenew | — .20 SI0EEs,
b Qe 12 am@é;'@ ;
BHewas Gsway — - 5.2:40,000

EXp'lain the features of Absorption costing.

T ILsselena samédueen @ueyser eflarsgs.
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19. From the following data, calculate sales
(a) -Value variance
(b) price variance
(¢) Volume variance: o S
Product - Budgeted Qty = Budgeted sale - Actual Qfy Actual sale

price price
A 8,000 : Rs.12 : 9,000 Rs.11
B 12,000 . Rs9. 6,000 - Rs.10

' ‘%Ic.'pa;rr@m efleuymsafellmbg e puman
' ) iy Geugiuim(®
(cgb) @S]Gmev Ceumrim(p
(Q) ereimantiGans Coumyuimr@ %@Lumg)smﬂ)a; a;Gma;aE]@a;

Quimper [ (TR TR VT (I T o arann O Gl - .
L aTarentlEens aﬁ]mummaﬂmw aaraflsens  edlmLiamen aflenay
A 8,000 .12 9000 .11
B 12,000 . w9 6,000 .10

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions'

20. - Following expenses were incurred by a contractor on a contract
which be started on 1st J anuary 2016.

Rs. ,
Materials ' 4,00,000
Wages . ‘ 5,00,000
. Other expenses C "1,50,000
Plant at cost o 5,00,000
Work certified . - . 12,00,000
Material on hand (31.12.2016) -  1,10,000
Plant at closed valued at 4,30,000
Cash received from contractee 10,00,000
materials returned from size 20,000
Work completed not certified 60,000

Prepare contract Account and work in’progress, assumlng that
the contract price was Rs.35,00,000.

1 saaufl 2016-cb ypbldlGaiiul L @ @uu;bg;.ésﬁem Q&Gueua;m@n @@
RUUBSSTIT Spsam_aunm Gelgerermr,

€.
epL@ummaT 4,00,000
gnedlaser 3 ‘ 5,00,000 |
Q7 deweygdr ' 1,50,000
Qurdulien =i_sselane . " 5,00,000
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€.
uanflppoILIAUH D& srempeNsaiiul L g) 12,00,000
epeUuQurmer @apliy (31.12. 2016) ‘ 1,10,000
Gumdludier. @Qmid oy 4,30,000
@UUBSL darhsseflOmBs Qr,rrra;a;m Qupps) 10,00,000
epeoQummer uenflufl &6 Bibg S HbAwg 20,000
uenfl apHmIGuDHP FrarpeflssiLL TS 60,000

@ULBs  samsE  sunfissed. Gogid umfl ~ waGappsmss
ST &g D. (rss guupseiima e5.35,00,000 erané Qaers. .

21. A product isobtaineéd after it passes three district process. From

‘ the followmg information prepare process Accounts and
Abnormal gain and Loss Account.

. Particulars Process—1  Process —II Process -1II
; Rs. Rs. Rs.
Raw materials . 2,600 1,980 2,962
Direct wages i 2,000 " 3,000 4,000
Normal Loss : 5% 10% . 16%
Selling price scrap (per unit) 2 4 5
Production ) 950 units 840 units .. 750 units
General Expenses Rs.9,000 which is absorbed basis of wages
1,000 units at Rs.3 each were introduced to process I.
g @ummer pparn Gewdpapaefa surflsstubHneg, Sbser.
sseuseiladlmbsl Dewdapmns sarE@amenD SiETsma @er
B8 &emré @amenb GUlmi&sHe.
AU Gewmapem—1  @swagpamn — 1 Gewdapeny — 11
. th. .

* e iGN pETSET 2,600 1.980 2,962
Ciiriq & dnad) : \ 2,000 3,000 . 4,000
srrg,m;raftt BLL LD 5% 10% 15%
sifley Quimgper aﬁ];bi_lanm (SIvGseT) 2 4 ]

2 pugH 950 i@ BA0 Si@sEeT 750 i@ et
Qurrgis Qeaeysdr 65.9,000 sl 1fssHd BrstLBEDE. 1,000
DADGEET (5.3 igld Lig Fleana I-e6b oyfpsiuGEsiiLl L g).

22. From the following data, prepare an operating cost statement

showing the cost of electricity generated per Kwh..

Total units generatcd 10,00,000 Kwh

Operating wages Rs.50,000 -

Repalrs and Mamtenance . Rs.50,000 ol
~ Store and spares Rs.40,000

Plant supervision . ~ Rs.30,000 .

Administrative overheads ' Rs.20,000

Coal consumed per Kwh for due year is 2.5 kg @ Re.0.02 per kg.
Charge depreciation at 10% on capital cost of Rs.2,00,000.
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